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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

December, 2014 	0 1 3 4 8 

ELECTIVE COURSE : ECONOMICS 
EEC-13 : ELEMENTARY STATISTICAL 

METHODS AND SURVEY TECHNIQUES 

Time : 3 hours 	 Maximum Marks : 100 
(Weightage : 70%) 

Note : Attempt two questions from section-A, four from 

section-B and two from section-C. 

SECTION - A 

1. Distinguish between primary data and secondary 20 
data. Discuss whether secondary data should 
always be preferred to the primary data for some 
statistical investigation or not. 

2. (a) Discuss the concept of skewness. Explain 12+8 
how this concept is different from that of 
dispersion ? 

(b) The median, mode and Karl Pearson's 
co-efficient of skewness for a frequency 
distribution are 17.4, 15.3 and 0.35 
respectively. Calculate the co-efficient of 
variation for the distribution. 

3. What is an estimator ? Discuss the desirable 20 
properties of an estimator. 
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4. 	Differentiate between probability sampling and 20 
non-probability sampling. Discuss various types 
of probability sampling. 

SECTION - B 

5. 	Explain the concept of a parameter and that of a 12 
statistic. Is an estimator different from a 
statistic ? Explain briefly. 

6. 	Present the classical definition of probability. 	12 
Discuss its limitations. 

7. 	What is a standard normal variable ? Discuss the 12 
important features of a standard normal variable. 

8. 	Discuss the procedure for obtaining a cost of 12 
living index. 

9. 	Discuss the steps followed in quota sampling. Is 12 
quota sampling the same as stratified sampling ? 
Briefly explain. 

10. Distinguish between : 	 6+6 
(a) Null Hypothesis and Alternative 

Hypothesis. 
(b) One-tail Test and Two-tail Test. 

SECTION - C 

11. Prove that the sum of the squares of deviations of 	6 
a given set of observations from their arithmetic 
mean is minimum. 

	

12. Suppose a fair coin is tossed twice. Suppose A is 	6 
the event 'head on the first toss' and B is the event 
'exactly one tail'. Are the two events A and B 
independent ? 
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13. If Bowley's co-efficient of skewness is 0.5, 	6 
inter-quartile range is 16 and first quartile (lower 
quartile) is 16 for a distribution, find the median 
of the distribution. 

14. The chance that a doctor will diagnose a disease 	6 
correctly is 70%. The chance that a patient will 
die by his treatment after correct diagnosis is 30% 
and the chance of death by wrong diagnosis is 
80%. A patient of the doctor who had suffered 
from the disease had died. What is the chance 
that the disease was diagnosed correctly ? 
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